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Pac.rerHuri anrophrM: snua: Q=tvll*(11-hxe)-M2x(hZ-hxe) rero: Q=M1x(hl-hxe)-M2*(h2-hxa)
AoroBopHbre Harpysxr, [xan/v, Qor= QeeHr.= Qrex.nor,= Qrac=
floroaoprrreHarpy3Kt4(cp.vac),Fxan/v, Qrex.rec.cp= erac.cp=
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OaKrr,recKre Harpy3Kr4: Gor Q,= 7.t crBc O.= r'lcyr Qor.6.= FKan/vec Qor.cp,Q,= fKanlcyt
KoHcraHrHbte 3HaeeHile: P1= P2= P3= P4= II= T2= -f3= T4= T5=
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3.01 69,26 7,88 t02,2tu 51.08 7,66 s4,130 8,18 48,080 315

24 0l 5 69,32 185 109.330 \) 4'1 764 55,830 6.85 53.500 4,651
25 01 5 69,34 7,86 rt2,230 s3,10 763 5s,940 6,24 56,290 4,811
26 01 5 69,29 7 ,81 101,470 51,93 765 55.800 7 ,36 45,670 4 33
701 5 69 29 7,88 101,760 5t,79 7.65 55,980 7 ,50 45,780 4 52

28 01 5 69,28 781 !02,270 52,01 7 .6s 55,610 7 ,27 46.660 95
29 0t 5 69,28 7 .87 101,230 5t,74 76s 55,420 754 45.810 +, 45
30.01 5 63 04 7,83 r06,650 49,25 7,59 57.580 3,19 +9,070 3,887

101 5 69,28 747 105.800 52.44 765 q4 qqn 16 84 50,810 4,447
t.0z 5 69.33 7.85 1r4,620 53,74 7,62 56,700 15.59 57,920 4.900
2,02 5 6A fO 7,88 100,850 5r,75 765 55.240 17,54 45,610 4 1)q

l3 02. 5 69,29 787 104,9 i0 52,93 7 ,65 54,280 16,36 50,630 4,397
)4 02. 5 69,28 7 ,87 102,600 q? ?? 76s 15,96 41,080 4.151
l5 02 5 69,32 t .87 03,920 53,09 7 ,63 57,20Q t6,23 46.720 4.1,70
)6 02 5 69,26 7,88 06,800 52,91 7,62 sB 8s0 47 qqo 4 286
)7 02. 5 69,30 7 ,87 16,980 54.61 7 ,56 65.470 14,69 51,510 4 q??

)8.02 5 69 2 785 2.890 qq ln /.54 65,970 t4,22 56,920 4,886
)9.02 5 69 6 7,87 r,300 53,4 /59 63,040 t5.7 5 48 260 4,331
002 5 69 9 788 lU U8U 53,4 /58 63.790 1q 7R 46 290 4 209
102 5 69 6 / ,87 2,590 54,2: /,54 67,720 1a q? 44 870 4,7r5
202 5 69.20 / ,87 16 0s0 54,58 7,52 70,090 t4,62 4s 960 4,209

13.02,1s 69 23 7 ,87 14,790 54,55 7,53 69,890 r4,68 44 q-no 4 1-16

i4 02,15 69,23 786 i9 830 qq n\ /.52 69,680 t4,18 50,150 4 462
15 02,15 69,26 /85 3.200 q4 qq 7 qq 65,750 t4,27 57,450 4,9r9
16.02 75 69,26 781 09,070 52,75 7,63 57,060 10,J I 52.010 4 544
17.02,15 69,28 787 00 620 51.25 7.66 53.230 18,03 47 ?qn a )4\
18.02,15 69.27 /87 99,660 q1 41 7,66 s3,990 17,86 45,670 4,r28
19 02,15 69,33 786 02,060 52,28 7,62 57,660 17.05 44.400 4 063
r0.02 15 69,36 786 t4,730 53.16 7.60 59,750 16,20 54,980 4 783
2L 02 15 69,28 786 09,840 53,42 761 58 840 rs,B6 51,000 4,468
\2 02 75 69,34 /86 0/,860 52.8 1 761 57.360 1A q? 50 500 4 4\)
-peAHee 69 01 7Bl 108,65t 52,9' t67 59.30z ro,1) 49 35t
4Toro 0,t 3368,20t 0,00( 1838 360 0 00c 00t 1529,84t t35,25

OpheHThpoBocHo Ao KoHqa MecrLla(+)
KoppeKrhpoBKa :a npoLuuri Mecall (-)

hroro 3a Seapans 2015 :

I loKa3aHh9 cLleTq[KoB Ha MoMeHT r]HgTl4t AaHHbtX:

Aara il BpeMg 1,43, r QJ, I Kan IY4, T Q4, I Kan V5, M.KV6 Q,l Kan

13.01 15 11:00 45 179,060 26247,630 1616,466
13.02 15 04:00 48522,r90 28070,630 1750,7 r1


